5 - = . =
k = X ¥ 3

RS LR EFAPE (AT R D]
FIF IR NPT LEHT RENET
g T RS — B R ki o




" I
SIHET A ELATR

(Elementary Events and the Sample Space )
MR T TR R B L RATE
(Sample Space) o

At ra2Z kA F={ten » F

=4
N ad

Pr(gi] = gt [ /BRAZEFL]

Pr(¥2] =027 s %
Pri® 2] =1 wxREe
FREE AT £ AR :

" A
3.2 4§ & ¥ i 2_ 1% & (Probabilities for Compound Events)
# & £ ¥ (Compound Event) td & f & B ou
PR EFEohed o FEE R FLEE B S GUE
A:Z & (Union > &)
B:% & (lIntersection> ¥ )
C:# & 42 ;2 P) (Addition Law ) #2

D:3k ;£ 72 #] (Multiplication Law ) -




Pr[~ &3R5 4 & 3BT kB4
Pr{~ £2r&4 v 3334 ko 4

= Pr{UG » EE] = PrUG N EE]

E1TR

26
38

| "

o

AR BER  BER
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e BE RS

08
08
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" JE
B & ¥ % (Joint Probability)

ABFAABPU TR FZEIE (F) A8
(&%) #2242 45

6.2.2 4t ;% /% B (The Additional Law)
IRE RS ER A TN

Pr[ A & B ]=Pr[A]+Pr[B]

3. 2.3 #viEiE B3 3% (General Addition Law)

SIBEREN U BT

Pr[ A & B ]=Pr[A]+Pr[B] — Pr[ANB]

3.2.4 &% 22 422 P (Application to

Complementary Events )

¥ # Ao E 2 (Complementary Event) - % 1 #7
33 R AA S ST g £




3.2.5 33t (Statistical Independence)
POABEERF > Z-FEFLIET Y IRV -F
BgF A B F o SR FA L S p 2 (Statistically
Independent) > ¢t = ¥ i 3 = ¥ # (Independent
Event)

3262 ¥ *2 kixi:p
(The Multiplication Law for Independent Events)

YEEI AR oBAT ARG F L AT
WFz k74T

PrfAN B]=Pr[A 2 B]= Pr[A] xPr[B]

3.3 i% #18 & (Conditional Probability )
i % 5 (Conditional Probability) 47 &% - % ¢
FADFRT o R - TR O F o
Prl*#& /% 2% ]=0.90
AR EEIRGEAL S TRFAPS
(#- g 5 0.90)

4=~

GBE EHA T LFBAFL PIE R F L AN
Bhe
PrfAZ'B]  Pr[AnB]

Pr[A|B]= ~ =
[B] Pr[B]




331 T2 sk
(Establishing Independence by Comparing Probabilities)

% Pr[A|B]=Pr[A] & Pr[B|A]= Pr[B] -
g« PrfANB]=P(A) « P(B/A)=P(A) « P(B) -
RIFLAZ B & i+ 5 Wit b= (Statistically

Independent) -

10

" A
BAFEER BN P
3.4.1 3 i ;% P 2_ i 3% (The General Multiplication Law)
¥ 2AZBE T &
Pr[A = B]=Pr[AnB]=Pr[A]xPr|B|A]
%% EANBEB N ALAk o> &

Pr[A® B]=Pr[B] x Pr[A|B]

11




" J
3.4.2 1% = A1 W] (The Probability tree Diagram)
# 2 #F (Probability Tree) - & - @~ 7% 2% 4§
22 ST nBIfE S E o I A8 R R ES S P

SIS R Ealk F - SU

12

" e B BHlS R B BhEHER

Pr{0] X Pr{F10] = 4 X 8 = .32
Pr[FIO] = .8

A BRIRE A
FEBAIREI A

Pr[O] = 4 Pr{U10] = .2
Pr[O] X Pr{UI0] = 4 X 2 = .08

Pr{ 3E O] x Pr[F|3E O]
Pr[ 3k O]=6 Pr[F|3E O] =1 =6x.1=.06
A BREI G
R E A
Pr[U|3E 0]=9
Pr[ 3E O1x Pr{U|3E O]
=6X% .9 =54

6-4 HIMERAGOME R
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3.5 A BT LA hIE R
(Predicting the Reliability of System)
WFeny - BERDRY LA F RIFRIER
4 kven¥ & (Reliability ) o

3.5.1 B B % 5t (System with Series Components)
B U5k % (SeriesSystem) . d xite 2 H At
HEApER o R EerE B AT 2 21 ¥ (T

2, L
2
%é /Ji UL °

14

fr s LE AR L E o W
R, (1) = R (DR (). R, ()

R, (t) = 0.90(0.80)(0.95) = 0.684

1 2 3
90 .80 95
R\(1) Ry(1) Ry(1)

R(f) = .90(.80)(.95) = .684

6-7 SBHRKNREES
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" J
352 J_": 3313 ,:55 .&ﬁ(System with Parallel Components)

I 8k %o (Parallel System ) s fics @ n & kAP
F-HAVEREFDTFET PP ARV BT
,-g,f v
AR LR ETLR D AR A s g o

Rs(t) =1-[1-R,()]1-R,(®)]...1 - R, (V)]
: rB6-8% ¥ A2 7 A 2 R(1)=04 5 R,()=05 >
3(t) 0.6 - \;Ipx 4 BLEE fa. r«~

Ry(t) =1-(1-04)(1-05)(L-0.6) =1-0.12=088

=i

it o

(&

16

R/(t) =4

R(D=.5

3
Ryt)=.6

Rg(®) =1-(1-.4)1-.5)1-.6)=.88

6-8 WERKNEEE
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" A
3.5.3 4 3v¥ £ B 3% < (Increasing System Reliability)

dem e B AT AR 0 R AR TR o i
FHET RIS
(DrZ2HF 8? LHEAPT LR o
QLR > prhi ~ (LF 7V EEARFF) >
%ﬁﬁﬁ—v%mﬁﬂi,&%gﬁﬁaﬁg#ﬁ
g % 4 % %v (Redundant System )

1—[1—R,()][1—R,(t)] =1—(1—0.8)(1—0.8) =0.96

18

Rs() = 684
(a) [REARH

[z] 3 Ry(t) = 812
95 95

(b) FEFRA

Ry(t) = 821

.80

(c) ZERFAM

B 6-9 MBENRKIFELINTRE
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